. GROCO G Marine Toilet

Type Pump: Plston
Type Operation: Hand

12/7/82

Production: 1958 - 1961
Tdentification: Pump Assembly leans

forward 15°

Ttem Part Number Part Name Qtyj{Available | Comments
Yes No '
Not Shown 4978 Bowl 1 X
Not Shown TT~50 Seat & Cover 1 X
' Not Shown 5/16 x 1 1/2 HB | Bowl Bolts 4 | x
* Not Shown Water Tube Water Tube 11 x
’ 1 G-8-A Handle 1 X
2 G-3 Cushion Washers 2 X
3 G-1 Pump Shazkg(l/Z x 8 1/2) 1] %
* 4 H-16 Shaft Seff 1 %
5 G-13 Valve Shut-off wheel 1 X
* 6 031-075-8 Valve shut-off seal 1 X
7 H-3 Pump Cylinder 1 x
* 8 G-12 Valve Check Gasket 1 X
9 10-24 x 3/8 RB Screws 6 | x
10 D-045 Spring 1 | x
11 G-11 Valve Cover 1 X
* 12 1/8 x 7 O-Ring 1 | x
13 G-9 Piston & Ring Assy 1 1x
14 1/4 x 3/4 RB Screws 10 | x
15 G-5 Pump Cylinder Base 1 X
* 16 CP-2238 Gasket 1 | x
* 17 HT-3562 Check Gasket 1 %
18 HT-2369 Discharge Cap 1 | x Requires H-27-A
19 G Base o 1 X
20 1/8-27 HB Drain Plugs 2 |x
* 21 HT-84-A Spring Assy 1 Ix
* 27 G-7 Gasket 1 X
23 G-2 Bowl Plate 1 x
24 1/4 x 3/4 FHB Screws 4 ix
* 25 HT-52-A .Bowl Gasket 1 X

% Parts included in G repair kit

Note:

Though many of the parts for this model toilet aré no>longer available,

if the old parts are returned to the factory it 1s sometimes possible



